
 

 
SM-2 

Montageanleitung DE 
Assembly instructions EN 

Instruction de montage FR 
Instrucciones de montaje ES 

 

Edition: 2023 06 Doc-Nr.: M-00415 www.ergoswiss.com | info@ergoswiss.com 
 

 

 2x    1x    2x      2x    
                 M6x16 (H4) 
                      M6 (Hex 10)  
 
 

 
 4x  4x  4x  8x   8x  8x    4x  
 
 M8  M8x12 (H5) Ø8.4/Ø30x2  M8x25 (H6) M8 (Hex 13)    M6x20 (T30) M10 (Hex 17) 
 
 8x  8x  4x  10x   10x        
 
 6x25 (T30) Ø6.4/Ø16x1.6  3.5x16 (T15)          

 

 

 

  

 
 
 
 
 
 
                4x                M8  
 
                4x                M8x12  
 
                4x                Ø8.4/Ø30x2.0  

 
 
 
 

 
        8x  4x  
 
 
        M6x20   

  
 
 
 

 
        8x  8x  
 
 
        M8x25  M8  

 
 
 
 
 
 
 

 
            8x  8x  
 
 
            6x25 Ø6.4/Ø16x1.6  

4 

3 

1 

2 



 

 
SM-2 

Montageanleitung DE 
Assembly instructions EN 

Instruction de montage FR 
Instrucciones de montaje ES 

 

Edition: 2023 06 Doc-Nr.: M-00415 www.ergoswiss.com | info@ergoswiss.com 
 

 
 
 

 
 
 

 

Ergoswiss AG 
Nöllenstrasse 15 
CH-9443 Widnau 
Tel.: +41 (0) 71 727 06 70 
Fax: +41 (0) 71 727 06 79 
info@ergoswiss.com 
www.ergoswiss.com 
 

  

 

 
 
 
 
 
 
 
  


